N = 97

97 circles in a hexadecagon
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radius =  0.090384196570  density = 0.B13161790005 g Eger:
cts = 183 bt

tio = 11.063881053869  conta

N = 100

100 circles in a hexadecagon

radius = 0.089221530647  density = 0.8
io = 11.208056987460 contacts = 1

N = 103

103 circles in a hexadecagon

radius =  0.087830356054  density = 0.815354995730 [ Egwr:
cts = 195 oz

tio = 11.385585177238  conta

N = 106

106 circles in a hexadecagon

radius = 0.087426745495  density = 0
tio = 11.438147380851 contacts = 19!

radius =  0.086264110555  densit
tio = 11.592306389833  contacts

radius = 0.089997526545  density = 0.814530681965
tio = 11.111416484318 contacts = 181

N = 101

101 circles in a hexadecagon

radius = 0.088715610784  density = 0.815721093404
tio = 11.271973344519 contacts = 189
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N = 107

107 circles in a hexadecagon
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y = 0.817079473500
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radius = 0.089677133347  density = 0.8:
tio = 11.151114700897 contacts = 186
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us = 0.087098806284  density = 0.8
io = 11.481213608592 contacts = 1

radius = 0.085814904455 density = 0.8161
tio = 11.652987395964 contacts = 200

N = 102

102 circles in a hexadecagon
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us = 0.088230728413  density = 0.814817084200  §Esmort
io = 11.333919803077 contacts = 190

N = 105

N = 108

108 circles in a hexadecagon




